Gl 1) and) Gl

BATss

sl

7D~ (—6) =
NP +2=
5P+ 8=

gD — (—8) =
(3" +(=7) =
(-10)* = (=6) =
71 _ 5=

7 —(-9) =
(—8)(2) — 4 =

7+ (=5) =

Aagull NGBS

6—(—1)=
902 +(=3) =
(—6)* + 8 =
D -10=
10 +4 =
(- +9=
1°-10 =

3 - (-5 =
(D= (6=

52 -6=

www.snowmath.com



https://www.snowmath.com

8 AR e

s RENH
. 43 1
TV = (-6)= — = 65 6—(-1)=7
13 6 242 80
B NG D B, R P o D 4 (—3)= (-Z2) = (—2—=
=7) - =15 9 (=3) = () = (2
(2 .o 200 1 ,
SV 48= "5 =85 (—6)> + 8 = 44
. 65 1
87V —(-8) = = =82 -1~ 10=(-9)
(—3)" + (=7) = (-6) 10+4=14
145 1
1\ (2) - _ 7 —0__
(~10)> = (~6) = 106 9= 95 =976
. 34 6
7V -5= (=) =(4) 1> =10 = (-9)
77— (-9) =58 32— (-5)=14
. 255 63
(-8) P —4= (_a) = (—36—4) (1) —(-6)=7
7%+ (=5) = 44 52-6=19

www.snowmath.com

e D


https://www.snowmath.com

